50E 3D KHLAHZHH]
Assembly Instructions

EFARREZA, FHIAERIXXMIRBH

Before assembling, please read the instrucions thoroughly.

kWL KRS H/Parameters :

#l4</Span: 1300mm

ER/Wing span: 1300mm

* ® @ /Main-wing area: 0.52m?

# ¥ E&/Flying weight: 1600Kg-2000Kg

RERT SAFETY PRECAUTIONS

ZEEZBENXNALTR2 A BE5— This radio control model is not a toy! It has some
EMHEAER, —EEFTZ XITHREM technical requirement, you must pay attention to the

ERIBE, REE AL /ﬁi?‘—ﬁxﬂzA u/-*F flying environment and correct operation. Teenagers
TkiT. VREESEZBATES must flight under the guardian’s guide. Learners must

i flight under the experiential man’s guide.




50E 3D k#l4A%iZAP www.kdsmodel.com

SR HE:

HRIHNAMFREMIA:

TFIBLT] | 15ARABLT]| 20NN ABLT | N#ET] EIT7 S £ BU
1.5/0 855k 2.0%6 % ABJZ 50257k 42 24 BR wF




50E 3D k#l4A%iIXA P

www.kdsmodel.com

iR
B AL & W GV B =
RER 1
RRIY M2*6 8 I F 4
FAT— Lo 13F
e rym 2
EARE 1
REEHR 2
5% i RELRY 1
REE R 1
HE 13
it fa 2
= e it 1
L 45 5 6
Re iR e M2%18 4
LA 1. 5%¥120mm 4
KER 13f
F R E 133
UFF $0 22 1
4 52 5 7
EHE 1
KFEEER EHEMBH 2
75 6 fE & 1
77 [a) $iL 4F 21%800mm 1
F B HL AT 21*x780mm 1
fit f 2
e g e M2%12 4
AL BL3536--900KV 1
R 40A(BEES) 1
e N280 (& Ht#) 4
LR35 +F5 1
Bl R % TFRREERY M3*8 4
L §2 M3*537 sk 4
R RE, BE, 28 1&
2 M2.5*6#F sk 4
$2HER 13*6 1
e 1
L Y& 150mm 1




50E 3D k#lEZEIREP www.kdsmodel.com

1ARKERER, EHEAKRLABR, A 2 FHEERME, $hii1 SIELABIE
MELBAMHEEENNREKER. M2*6HY B WHR £ .

RERT, BiFRIE LML, AR FEABEFRKTRRGE.

5. BHKTREEMLTES, RIRUF 6.1 FriEReEMEMUR ML A FLKTFRER
10mmERMBER (ARSHERE) . 1&.




50E 3D k#4HK AP

www.kdsmodel.com

7HEKFRE, BIABIFME, AS502K
KIS

# EABER

9. TEMLAEILE R EABRL, R AFFERME
M.

8. F#E CEEZNEMTE) .

10. FI5028 7k # & 7 i, FRMHR 75 IEIE
FRERER CEBERKMAR) .

NBHEEREMZRMBERIRFR
X

1208FfF, WANEERREXM LIFRIR AR
H RAIRETEMBESHNENREF.




50E 3D k#lEZEIREP www.kdsmodel.com

1BFRKR CGEBREKRN) - 14 MFEERFMMER, BAS02RKHES
CGEE—EEEZEETNS) RARMENG LR
AEFERR

5 ABREERMBRORRK. 16. FI5028 7k #h s T F B B AR AR LUK £ hn 58
fER. ARHEMAERTS —il.

17 EREBEARF LA FHEERNL 1874 EABI M S IFR 2 E RN .
R4, FHAEBNKEMRNLEZ —#,
A F5 TEFE B9 K i 85 H1.5MM7L .




50E 3D ¥ #BEKIRMA P

www.kdsmodel.com

19. VIFF 46 & 60 B 8 BR B2, 34 97 4 B 7 FI5026%
KHEERKE.

2. HEMB BRI ERNLEF, BIR
PIFBERE (UXFETDF) .

23. fEfEHLIEE £ H2MMAL .

225 NN, Mol SEhkEhHIRLT K £
By AR ERIFAANREN .

24 FAFFATRE GERNFBATRER
HEEEs)  ARMEB A EREFIN.




50E 3D k#lEZEIREP www.kdsmodel.com

25. i NBI R AcHE ., FS028 & IF . 26. BB R P, R EEEFIFRAT.

27T AR ERER. 28 FAM2* 18/ 42 22 41 4% .

RLEAEREMRMA (REERMEE— 30.47 EM2x 1248 22 .




50E 3D k#l4A%IXAPH

www.kdsmodel.com

STERLEFAEMREMAMMA (REEKRMEE—
).

32K EFMEMAA @AM, F1.5% K5 H
BeF, BirLRga.

e

MM PNhREGRE.

35 MK LB+ FRERI BN L.

36. FAM2 .54 K2 22 551 L3R HE SRR .




50E 3D k#l4A%IXAPH

www.kdsmodel.com

37. BBHNEFACHFNIML, ARA 38 EIFRIA .
MLl ZEEIFMMEL. -

-
30 ZeSEAFIBHELR, Ut P EAR. 40 EEF R G GERAEXESEHER
BHYLA) .




50E 3D k#l4A%iZAP www.kdsmodel.com

BT AETEER12CM

i B E W
OHRAMAMEBIZF N RESKRIIR.
OERIAIGET—NMEFH AR, HRB-—IMEEBERLTIR.
O)ic: EHHEHREMTIRFAEZFHESPRLE.
OESMBMEMAIRL, AMMERLUBRYITRESARMKEFLLR, MREED
¥, —EERERTHHRT.
OEFE—NAZEMXFHESHEFIA T
OTEREXIT, BAYTRENKRERZRHE T
OEHETITHRE, BAHEVTEROHTF, BTITHRE.




